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Solve each problem.

Ex) 23 + 5 = 28

1) 1,220 - 502 = 718

2) 490 + 238 = 728

3) 105 - 28 = 77

4) 60 + 5 = 65

5) 5,078 - 759 = 4,319

6) 91 + 4 = 95

7) 14,818 - 6,547 = 8,271

8) 7,769 + 112 = 7,881

9) 14,058 - 6,526 = 7,532

10) 28 + 15 = 43

11) 1,374 - 466 = 908

12) 9,373 + 3,766 = 13,139

Answers

Ex. 28

1. 718

2. 728

3. 77

4. 65

5. 4,319

6. 95

7. 8,271

8. 7,881

9. 7,532

10. 43

11. 908

12. 13,139
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Solve each problem.

8,271 7,881 7,532 65 43

95 77 728 4,319 718

Ex) 23 + 5 = 28

1) 1,220 - 502 = 718

2) 490 + 238 = 728

3) 105 - 28 = 77

4) 60 + 5 = 65

5) 5,078 - 759 = 4,319

6) 91 + 4 = 95

7) 14,818 - 6,547 = 8,271

8) 7,769 + 112 = 7,881

9) 14,058 - 6,526 = 7,532

10) 28 + 15 = 43

Answers

Ex. 28

1. 718

2. 728

3. 77

4. 65

5. 4,319

6. 95

7. 8,271

8. 7,881

9. 7,532

10. 43
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